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int i, *pi;

���& i��� ��� pi�����������
�
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pi = &i;

� &i�� i�����
�"� pi�
� i�"����

i = 10;





*pi = 10;

�����"������" 10 �
� i 
������"�� pi �� * ��
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�����
������ char��� �������� float��� ������C

��0�" NULL�%���������� ����������
�	
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��" 0�%�C� NULL������	������
�" 0��������
��	

���%����"������$����������

if (pi == NULL)
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if (!pi)

§1.2.2 ������
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�

�����������	�����������������C����������

����
������
�	�����������heap�����
	��
�	��

������� malloc1
����������	�����
��������
�

malloc��������������������	
�����
�
�������

�� malloc���� NULL��������
���
�	������� free�
2

��"��
���*���
�	$2�������
��
 1.1�1
�2��
�	

������������

�
 1.1�� malloc����
���� int	�� float��
�	�����"�

�����
�	����	���������������
�
����
���


��� char *���� char����� ANSI C�� void *��� (int *)	 (float *)

���������	���
 1.1������3����������� �����

���free������ malloc1
��
�	2�������� C����free


������� char *�� ANSI C
������� void *��
�free������

����3��
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int i, *pi;

float f, *pf;

pi = (int *)malloc(sizeof(int));

pf = (float *)malloc(sizeof(float));

*pi = 1024;

*pf = 3.14;

printf("an integer = %d, a float = %f\n", *pi, *pf);

free(pi);

free(pf);

�� 1.1 ���������

���
�	�
��� malloc��1
4��������
��
������

��
 1.1��� malloc����
�

if ((pi = (int *)malloc(sizeof(int))) == NULL ||

(pf = (float *)malloc(sizeof(float))) == NULL) {

fprintf(stderr, "Insufficient memory");

exit(EXIT_FAILURE);

}


����	���


if (!(pi = (int *)malloc(sizeof(int))) ||

!(pf = (float *)malloc(sizeof(float)))) {

fprintf(stderr, "Insufficient memory");

exit(EXIT_FAILURE);

}

�� malloc��
��
���������������������� malloc�

�� malloc4���������	�����	���

#define MALLOC(p,s) \

if (!(p) = malloc(s))) {\

fprintf(stderr, "Insufficient memory"); \

exit(EXIT_FAILURE); \

}

���������������
 1.1��� malloc����

MALLOC(pi, sizeof(int));

MALLOC(pf, sizeof(float));

��
 1.1�$� printf��
��������

pf = (float *) malloc(sizeof(float));
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C�
�!��������������� NULL"��	���	�������
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���� NULL������������
���$������ 0�
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pi = malloc(sizeof(int));

/* assign to pi a pointer to int */

pf = (float *) pi;

/* casts an int pointer to a float pointer */

�
������
����������	 int������
��
 int ���

���$�������

������3���������������
��	�
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���$�� int��������$�2����������		����
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(1) ���� �� �
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(2) ����������

(3) ������
	�������

(4) ������������������
����

(5) ������
������������
&�%������� (3)
�����

��	�����
��"�����feasible��
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!���� C����
�������C������%��������������

���
!��������
��

� 1.1 (	���) ���
�� n ≥ 1����
���������
��

From those integers that are currently unsorted,

find the smallest and place it next in the sorted list.

(�������������������������������������)

�����	�
!��
����
������������
��������

�
 ����������������
 ������������
 �����

�	�,��"�������������� list�
�� i�������� i�
��

� list[i]�0 ≤ i < n��
 1.2����������$���
	�� C���	���

��

for (i=0; i<n; i++) {

Examine list[i] to list[n-1] and suppose that the

smallest integer is at list[min];

Interchange list[i] and list[min];

}

�� 1.2 ������


��
 1.2���"�� C�����"�������������������

�������������"� list[i]"����������������
 1.3��

����������

void swap(int *x, int *y)

{/* both parameters are pointers to ints */

int temp = *x; /* declares temp as an int and assignes

to it the contents of what x points to */

*x = *y; /* stores what y points to into the location

where x points */

*y = temp; /* places the contents of temp in location

pointed to by y */

}

�� 1.3 swap��
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������� swap����"� a	 b� �� int���
"�����
��

"����

swap(&a, &b);

�� swap���� a	 b�������"�� �"�����

#define SWAP(x,y,t) ((t) = (x), (x) = (y), (y) = t)

�	��������������������
�� ����

��������������"������"� list[i] ���
	 list[i + 1],

list[i + 2], · · · , list[n− 1]���!
����"���

��"��	�� list[n− 1]

���
�����������
���������� sort���
 1.4���
 1.4�

������
������������
������ <stlib.h>���� rand�


���
������ sort�����
����������

�� 1.1 �
 n ≥ 1����������� sort(list, n)�
����������

������ list[0], · · · , list[n− 1]��� list[0]≤list[1]≤ · · · ≤list[n− 1]�

�� ���� for ���� i = q� ������ list[q]≤list[r], q < r < n��

������ �� i > q���� list[0]� list[q]���� �������� for�

������ ���� i = n− 2
���� list[0]≤list[1]≤ · · · ≤list[n− 1]�

� 1.2 (����) "� n ≥ 1��
���
��� list
��list[0]≤list[1]≤ · · · ≤
list[n− 1]�����&�� searchnum ������������������� i�

searchnum=list[i]����� -1��
����
������������"�


 left�right�
�%��������������"��left=0, right=n− 1�


 middle=(left+right)/2��������"� searchnum	 list[middle]����

���		���

(1) searchnum<list[middle]������ searchnum����
���
� 0� middle-1


	����� right��� middle-1�

(2) searchnum=list[middle]������ middle�

(3) searchnum>list[middle]������ searchnum����
���
� middle-1�

n− 1
	����� right�� middle-1�

� searchnum�
$���
���
����
������	�� middle����!

��
���
 1.5��	������������������(1)���������


����(2)�� searchnum	 list[middle]�

���
�������������������
��	�����
�
��
�

	
��
���"���� C������	��

• ��
�
�
������ (-1)�
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#include <stdio.h>

#include <stdlib.h>

#define MAX_SIZE 101

#define SWAP(x,y,t) ((t) = (x), (x) = (y), (y) = t)

void sort(int [], int); /* selection sort */

void main(void)

{

int i, n;

int list[MAX_SIZE];

printf("Enter the number of numbers to generate: ");

scanf("%d", &n);

if (n < 1 || n > MAX_SIZE) {

fprintf(stderr, "Improper value of n/n");

exit(EXIT_FAILURE);

}

for (i = 0; i < n; i++) { /* randomly generate numbers */

list[i] = rand() % 1000;

printf("%d ", list[i]);

}

sort(list, n);

pritnf("\n Sorted array:\n ");

for (i = 0; i < n; i++) /* print out sorted numbers */

printf("%d ", list[i]);

printf("\n");

}

void sort(int list[], int n)

{

int i, j, min, temp;

for (i = 0; i < n-1; i++) {

min = i;

for (j = i+1; j < n; j++)

if (list[j] < list[min])

min = j;

SWAP(list[i], list[min], temp);

}

}

�� 1.4 ����
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while (there are more intergers to check) {

middle = (left + right) / 2;

if (searchnum < list[middle])

right = middle - 1;

else if (searchnum == list[middle])

return middle;

else left = middle + 1;

}

�� 1.5 �����

• ��
�	���� 0�

• ��
�
�
������ (1)�

����������
 1.6�	��	��������������
���	��

���

int compare(int x, int y)

{ /* compare x and y, return -1 for less than, 0 for equal,

1 for greater */

if (x < y) return -1;

else if (x == y) return 0;

else return 1;

}

�� 1.6 ������

����

#define COMPARE(x, y) (((x) < (y)) ? -1 : ((x) == (y)) ? 0 : 1)

�����'�#������������������������������

�

�������"����������������$�����'

���



��"�������"�
����"���������������������



	����*"�������
�������������!���������

����%����
���
 1.7��

�������������

������� C��������������
����

����	���	

����
��������������������
�����
�
����
��

�
������
�$��
������������
��������
��
�

 �����	��
�����
���
�������������&
�����

���������
�C����������������������������

���
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int binsearch(int list[], searchnum, int left, int right)

{/* search list[0] <= list[1] <= ... <= list[n-1] for searchnum.

Return its position if found. Otherwise return -1. */

int middle;

while (left <= right) {

middle = (left + right)/2;

switch(COMPARE(list[middle], searchnum)) {

case -1: left = middle + 1;

break;

case 0: return middle;

case 1: right = middle - 1;

}

}

return -1;

}

�� 1.7 �����

§1.3.2 ����

�����



���

$�
���������������
�����

���
��	
���������������������$�$���������


����
��������
���	�$���$����������������



�������������������$���������
�	�$�
��

���������������$�����

��������
���
��$���+��	5�����

���
���

������������� Ackermann��������	�������������

����"���if-else���while������������$�������$�

���

� ��������


��,����$��!�������������	���������!��

��$����
�������
�$����������������� Fibonacci

�����������	
��������	
������(
n
m

)
=

n!
m!(n−m)!


	���	$���� (
n
m

)
=

(
n− 1

m

)
+
(

n− 1
m− 1

)

���
�����!$�����&
��������� 1.2�%�������

$�����������������������

� 1.3 (����) �
 1.7�%���� ����
��������$�������

���
��(1)��$�����	� ���(2) ��$������$�����
�
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�#�����������
�����
 1.7��� binsearch����������

��	����������� list[middle]=searchnum���������������

"�������������
������ while������	�� if���

��!$�������!�'����������
�	� left ��"		�

right��"��
 1.8�$����%����������
����$���$���

�	��$���	�����

int binsearch(int list[], searchnum, int left, int right)

{/* search list[0] <= list[1] <= ... <= list[n-1] for searchnum.

Return its position if found. Otherwise return -1. */

int middle;

if (left <= right) {

middle = (left + right)/2;

switch(COMPARE(list[middle], searchnum)) {

case -1: return binsearch(list, searchnum, middle + 1, right);

case 0: return middle;

case 1: return binsearch(list, searchnum, left, middle - 1);

}

}

return -1;

}

�� 1.8 ���������

� 1.4 (��) �� n ≥ 1����������������������������

{a, b, c}�
������ {(a, b, c), (a, c, b), (b, a, c), (b, c, a), (c, a, b), (c, b, a)}���
����
n����!� n!	������
���� {a, b, c, d}����������������
������&
��

(1) a!� (b, c, d)�����
��

(2) b!� (a, c, d)�����
��

(3) c!� (a, b, d)�����
��

(4) d!� (a, b, c)�����
��

�!��� · · · ��
����&$�����
������������#� n− 1

���������� n������������#����������
 1.9��
�

� list�����������������	� perm(list, 0, n− 1)�����$�

�������$� i = n�

�
���	������ {a, b, c} "�
 1.9������$��� perm����

� list�i�n�%		"������ i��� �� n� ��� list�������

�����"���
����� �
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void perm(char *list, int i, int n)

{ /* generate all the permutations of list[i] to list[n] */

int j, temp;

if (i == n) {

for (j=0; j<=n; j++) printf("%c", list[j]);

printf(" ");

} else {

/* list[i] to list[n] has more than one permutation,

generate these recursively */

for (j = i; j <= n; j++) {

SWAP(list[i], list[j], temp);

perm(list, i+1, n);

SWAP(list[i], list[j], temp);

}

}

}

�� 1.9 ��������

����	����
����$������������$�����
�� 4

������� 5���������$��������

��

������!����������
�������������������

�������
������
!������
��
� ����$�������

��	�
��
�	������������$����������
������

���
��������������������������������$���

1. 

�������

(a) ��� xn + yn = zn�����x, y, z��� n"� 2��

(b) � 5�� 0�� x������ 10�

�������
�������������
�����

2. ����	

A(x) = anxn + an−1xn−1 + · · ·+ a1x1 + a0x0,

���	� x0
�"��� Horner���

A(x0) = (· · · ((anx0 + an−1)x0 + · · ·+ a1)x0 + a0),

Horner�����	�"������������ Horner���"� C�
�
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3. �� n��� � x1, · · · , xn������������""�������� n = 2�

!��	���(true, true), (false, true), (true, false), (false, false)�� C�������

4. ��� C�
�	6
�� x, y, z���"�

5. #!��������� f � n��
�)���!��
 n�)��������)

� a, b, a �= b�� f (a) = f (b)���� C�
����"��	� a	 b�

6. ����� n��� n��	
�����	���� n��	
�� t�	�t���

� n�1 ≤ t < n�

7. ���� n!����� n ≤ 1��"� 1�� n > 1��"� n× (n− 1)�������
�$���	 ����

8. Fibonacci�����f0 = 0, f1 = 1,��� i > 1��fi = fi−1 + fi−2����� fi � C

��$���	 ����

9. ������	
�� ������
��	��$����

10. Ackerman�� A(m, n)����

A(m, n) =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

n + 1, if m = 0;

A(m− 1, 1), if n = 0;

A(m− 1, A(m, n− 1)), otherwise.

����������� m, n���
�����
��������
�����


�$���	 ����

11. (Hanoi�)�	�(��64�$��	���-������(������-���

���-�������	�
���-�����(����	�(������"

� �����

(a) ��!�����-��

(b) �-������-���

���$��
�����-��
��

12. 
 S� n�������
����
������������� S = {a, b, c}�

� powerset(S) = {{}, {a}, {b}, {c}, {a, b}, {a, c}, {b, c}, {a, b, c}} ���$�����
powerset(S)�

§1.4 ����

���
��#� C����������� char�int�float�double�int�

����7� long�unsigned��"�8 �������������������%
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�������������C ������	,���������	�����	��

�	�����
������	�������������
����%������

int list[5]����������
���������������� 0, · · · , 4���	

����
������	����
������"�	������

struct student {

char lastName;

int studentId;

char grade;

};

�����	����	��
�����
���������
�������	

��� student�C����	����2�� 2�����

���
���������������������������
���&	�

�����
����������������
��������,���

�� ���������	.��������
�,�	�

���
�������������
����������������	�

��
������������� int ������ {0, +1,−1, +2,−2, · · · , INT MAX,

INT MIN}��� INT MAX	 INT MIN��
���%�����	��������"

��� C������ limits.h
������
������������ +, −, ∗, /,

%��
�
����$�����	����"�
����
���
����
��

��	���� atoi�

��	���� +������
����������

�
��������������������������

���"��������

����������������%�������

����� char���%�����	�
�	������ int���� 2�
 4��

	��
�	��� int�� 2��	�
� INT_MAX = 215 − 1 = 32767�

�������������%�	������
���������������

����������
�	������������	��������*
����

��	� ��
��
�
��"������������

����������

�%�'����������	(����������	�����!��
����

���
������!
��
��������� ���
������%����

�����
���
�

�� �������ADT�������	���
��� ��������%	��

�
��������

���
����������������� �	������Ada ����

package	 C++���������	������

$�������������

� C�����������ADT������������C��������&��

��������"
��� ADT�
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��ADT
����
��� �����
������
�'�,���� �

����������
��������������������������
!�

�����	�%	���	��	��� ����
��������������	


����������������������
:

(1) ����/����������������	���

(2) ����������������������
����
���
��� ��

���&����
���
��������	�

(3) ����/����������������������������


� ADT��
�����
���	���

���������� �	����
�����
���

	��������

� ADT�����������

�
������#��������������

�%	���
���	�� ADT���	���
����(����������%

	�
��	��������������� ����
� ADT����

� 1.5 (�����
 NaturalNumber) ����� ADT �����
�����2�

��ADT 1.1������������� NaturalNumber�

ADT NaturalNumber

��	�: ����������0������������(INT MAX)

����:

�� x,y ∈ NaturalNumber; TRUE, FALSE ∈ Boolean�

� +, -, <, == ����������

NaturalNumber Zero() ::= 0

Boolean IsZero(x) ::= if (x) return FALSE

else return TRUE

Boolean Equal(x, y) ::= if (x==y) return TRUE

else return FALSE

NaturalNumber Successor(x) ::= if (x==INT_MAX) return x

else return x + 1

NaturalNumber Add(x, y) ::= if ((x+y)<INT_MAX) return x + y

else return INT_MAX

NaturalNumber Subtract(x, y) ::= if (x<y) return 0

else return x - y

end NaturalNumber

ADT 1.1:������ NaturalNumber
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����������������
� ADT����
����	�����	�


��������������
��������������	������%��


�����
�	���
�������� x, y� NaturalNumber��������

TRUE, FALSE� Boolean������������������	��
�������

���
��	��������������
������
�������	���

�����

����������	�

����	��� ::=����������

��������� Zero���������� ���&����� Successor(x)

�����
�� x���������� ��������������������

��������x���� INT MAX���
������� INT MAX����

��

���
���	����������
�� ���� Add	 Subtract������

�!� �����	�������!�� NaturalNumber�������

���������������� ADT 1.1����	��
�� ADT����

���	���� C�����������������������2�������

��
�
� ADT�����'���	���� ADT�������-�
 C����

��ADT���
������ C������	�����������������


�������ADT���
������������C�������������

��

� ADT 1.1������������

1. ����ADT�����
���Predecessor, IsGreater, Multiply, Divide�

(����
������)

2. �&��ADT Set�� ���
����
�����Create, Insert, Remove,

IsIn, Union�IIntersection, Difference�

(���������9
���"��)

3. �&ADT Bag�����������������
���Create, Insert, Remove,

IsIn�

(���������9
)

4. �&ADT Boolean������
���And, Or, Not, Xor, Equivalent, Implies�

(��
����
�	��'�)

§1.5 ����

������
������
���
����"����
���"������

���������

(1) �
������������
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(2) �
�����

(3) ������)����
���	���

(4) �
�������
������������

(5) �
�
�����

�������
��������

�������
�����
������

�!����������!����������!�

� ���	�	�����

�	���

��������
�	���������

�"��$����	�

����������������������������������������

�����������

�
��
��������!�����
�������

����	�

(6) �
����������	$��

(7) �
����	��

���

������������
�������������������������


����	��	�	�������������������	
����
���

9�������� �������������������
�"��������

�	��
���������
����	��

�����	����
����	

������������	�����������
����	�	���	�	��

���

�� �������
������
�	�	������
����	�

§1.5.1 ���	


�
�����	���	��

(1) �	��������
)��)�����	����
�	��
�
��	���

� ���
�	����� �����	���
�	�
��
�	�

(2) �	�������������������� ����	������$��


�����$�����
�	���������� I��
 P � ��	��

SP(I)�SP(I)�
�� ���� I����	
�����
�������

�

���
 I�)��)�������
�"�����)����� n����� n�

��������� n���������
� SP(I)���	�� SP(n)�

���
���	����

S(P) = c + SP(I)

��� c�%���	��������
��	�	���
��� ��	�����

���
��	�	����	���
�����
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� 1.6 �� abc (��
 1.10)�)��	��� ��)������� �������

������!����	������Sabc(I) = 0�

float abc(float a, float b, float c)

{

return a+b+b*c+(a+b-c)/(a+b)+4.00;

}

�� 1.10 ���
��

� 1.7 �
 1.11�)�!����� ���)��������������� ��	

����
��������������
���
����
��
 Pascal�����

���	"��������������������$������#��
�	��

��	������
 1.11� ��	��� Ssum(I) = Ssum(n) = n�n������C�

�����$�������"�������$�������C!�$�������

�
���������������Ssum(n) = 0�

float sum(float list[], int n)

{

float tempsum = 0;

int i;

for (i = 0; i< n; i++)

tempsum += list[i];

return tempsum;

}

�� 1.11 ���������

� 1.8 �
 1.12�����������
���	�
�$��
���

���$

��������%	 �������

float sum(float list[], int n)

{

if (n) return rsum(list, n-1) + list[n-1];

return 0;

}

�� 1.12 ���������

������$�������	�������	���������	��"��

�	�����	��� 4�� 1.1%���$�������	��
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�
 �� �	�

������� list[] 4

����� n 4

�����(�	��) 4

��$����	�	 12

� 1.1 �
 1.12��$������	

������
��� n = MAX_SIZE�
� ��	�	� Srsum( MAX_SIZE) = 12×
MAX_SIZE�� MAX_SIZE �1000 ����$��
� ��	��� 12× 1000 = 12000

�	����	�
� ���	$�����
� ��	�����
���
��

��

��

1. �� §1.3	� 7����� ���	$�����	�	��

2. �� §1.3	� 8�� Fibonacci��� ���	$�����	�	��

3. �� §1.3	� 9����	
�� ���	$�����	�	��

4. �� §1.3	� 5����	�	�(#!��)�

5. �� §1.3	� 12����	�	�(����)�

§1.5.2 ���	


�
 P��	���� T(P)�����		�������	��	����	���
�	�����
	������������
���������
��������

�������	�	�����
����	 TP�

���� TP �
������
��
9����
��
����
���
��

���������
�"�!�������
 n������TP���	�%�

TP(n) = ca ADD(n) + cs SUB(n) + Cl LDA(n) + Cst STA(n),

�� ADD(n), SUB(n), LDA(n), STA(n)�
���������
�
���� n���

�����ca, cs, cl , cst�
�����
������	
��

��
���������
���������$��
��)���
����

	��������������	���������������
�������


�����	���������
����
�
��
���	��
��

�� �����������������
������
���
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����
�������%��
��
����

a = 2;

����
��

a = 2*b + 3*c/d - e + f/g/a/b/c;

�����
���
��������	����
�	������	����
�!


��
�
��$

���
��������	��������

������
�����% � count������

����
��count��

"�� 0�������������������

� 1.9 (�������	�) �����	�
 1.11��
�����
 1.13�� count

���
�����!�������
����
��

	���� � �����


��

float sum(float list[], int n)

{

float tempsum = 0; count++; /* for assignment */

int i;

for (i = 0; i< n; i++) {

count++; /* for the for loop */

tempsum += list[i]; count++; /* for assignment */

}

count++; /* last execution of for */

count++; /* for return */

retur tempsum;

}

�� 1.13 �� 1.11�� count��

�
����������"�����
 1.13�
���������,��	��

����
 1.14��������
���	���
 1.14� count��"� 0�����

� 2n + 3����	�
��
���� 2n + 3�

float sum(float list[], int n)

{

float tempsum = 0;

int i;

for (i = 0; i < n; i++)

count += 2;

count += 3;

return 0;

}

�� 1.14 �� 1.13���
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� 1.10 (�������	�) �������	$��
��
�����
 1.15���

��
 1.12�� count���

float rsum(float list[], int n)

{

count++; /*for if conditoinal */

if (n) {

count++; /* for return and rsum invocation */

reutrn rsum(list, n-1) + list[n-1];

}

count++;

return list[0];

}

�� 1.15 �� 1.12�� count��

����� n = 0��� �����
 1.15��� n = 0�!� if����	���

return��������
�� 2�� n > 0�if����	��� return������

��� n > 0���$�������� 2�����
!� n�$������ n = 0��

�����
��
���� 2n + 2�

��$��
��
���� ��
��
����


.����
 ���


����� ����
����
������ ������
�����	���

��$��
���������
� ��
��$��
���
��
 ��
��

���	�
����

� 1.11 (�	��) �
 1.16������	���
�����
��
������ a

	�� b��������� c���������� rows × rows��
 1.17� add��

����
����	�������	��
���
	��
)����������

rows	 cols���!�
�������
�� �	�� count����������

�	�����
 1.18�

��
 1.18��count��"� 0������ 2rows · cols + 2rows +1������

����������������
��������

void add(int a[][MAX_SIZE], int b[][MAX_SIZE],

int c[][MAX_SIZE], int rows, int cols)

{

int i, j;

for (i=0; i<rows; i++)

for (j=0; j<cols; j++)

c[i][j] = a[i][j] + b[i][j];

}

�� 1.16 ����
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void add(int a[][MAX_SIZE], int b[][MAX_SIZE],

int c[][MAX_SIZE], int rows, int cols)

{

int i, j;

for (i=0; i<rows; i++) {

count++; /* for i for loop */

for (j=0; j<cols; j++) {

count++; /* for j for loop */

c[i][j] = a[i][j] + b[i][j];

count++; /* for assignment statement */

}

count++; /* last time of j for loop */

}

count++; /* last time of i for loop */

}

�� 1.17 ������ count��

void add(int a[][MAX_SIZE], int b[][MAX_SIZE],

int c[][MAX_SIZE], int rows, int cols)

{

int i, j;

for (i=0; i<rows; i++) {

for (j=0; j<cols; j++)

count +=2;

count+=2;

}

count++;

}

�� 1.18 �� 1.17���

����������� count������
���	��
���������
�

����
�	������
��������������
	�����
����

�	��������/		�(stps/execution)�
��� s/e���������	���

�������
����������������������� 0�� s/e����

����������
�����������
�����������������


����(�
��	���$!������������������	����

� 1.12 (�������	�) � 1.2��
 1.11��
�����&��
���	��


�������� s/e���������� 5�� for �����	���
� 0�

��i�	
 n��������� n + 1��� 6�� �	��!�� n��i==n���

����������
���
��������
�����
���	�
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�� s/e �� �
���

float sum(float list[], int n) 0 0 0

{ 0 0 0

float tempsum = 0; 1 1 1

int i; 0 0 0

for (i = 0; i< n; i++) 1 n + 1 n + 1

tempsum += list[i]; 1 n n

return tempsum; 1 0 1

} 0 0 0

�
��� 2n + 3

� 1.2 �
 1.11��
����

� 1.13 (�������	�) � 1.3��
 1.12��
�����

�� s/e �� �
���

float sum(float list[], int n) 0 0 0

{ 0 0 0

if (n) 1 n + 1 n + 1

return rsum(list, n-1) + list[n-1]; 1 n n

return 0; 1 1 1

} 0 0 0

�
��� 2n + 2

� 1.3 �
 1.12��
����

� 1.14 (�	��) � 1.4���������
�����

�� s/e �� �
���

void add(int a[][MAX_SIZE] ... ) 0 0 0

{ 0 0 0

int i, j; 0 0 0

for (i=0; i<rows; i++) 1 rows + 1 rows + 1

for (j=0; j<cols; j++) 1 rows · (cols + 1) rows · cols + rows

c[i][j] = a[i][j] + b[i][j]; 1 rows · cols rows · cols

} 0 0 0

�
��� 2rows · cols + 2rows + 1

� 1.4 ������
����
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��

�
��	�	����
����
����
�����
���������

����
����	���������	������)������)������

)�/)���"���		���
������������������
�����

�������
��	�����������������	���	�	���)��

�����%�
���
���������)�����
������������

���	�)��" ���%�
���
���������)��"��
����

������
�
�����"����������	�	�
����
�����

	��� ������	�� sum��
����	�	�����
 n��
���n

������������� add��
���������������	���

!�������n, m, p, q, r, . . .�����(�����',���
���
���

���n, m, p, q, r, . . .�������
����10�������
��100������

����
��� n���������
��
��m/2��������
��p + q�

������

��������	�����������	�
�������
�������

���������������	���������
��	�	����������

�����)��)�����
�
���������))���������
 1.7�

�
����� binsearch�
���
���� n�����������������

��������
� n ���%����������	����
�� n�����

�� searchnum����
��
��
��
������
������������

���
������
�������!���
����	������������

�
����
�	�������

�
�����������
�
�����
������
�������
�
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�
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��

1. � §1.3	� 2 (��	� Horner��")�����������
����%	�

2. � §1.3	� 3 (""�)�����������
����%	�

3. � §1.3	� 4�����������
����%	�

4. (a) ��
 1.19��������

(b) �����������������

(c) ���
���� count"�

(d) �����
����
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void add(int a[][MAX_SIZE], int b[][MAX_SIZE],

int c[][MAX_SIZE], int rows, int cols)

{

int i, j;

for (i=0; i<rows; i++) {

for (j=0; j<cols; j++)

printf("%d", matrix[i][j]);

printf("\n");

}

}

�� 1.19 ����

5. ��
 1.20���	� 4����

void add(int a[][MAX_SIZE], int b[][MAX_SIZE],

int c[][MAX_SIZE], int rows, int cols)

{

int i, j, k;

for (i=0; i<MAX_SIZE; i++)

for (j=0; j<MAX_SIZE; j++) {

c[i][j] = 0;

for (k=0; k<MAX_SIZE; k++)

c[i][j] += a[i][k] * b[k][j];

}

}

�� 1.20 ������

6. ��
 1.21���	� 4����

void add(int a[][MAX_SIZE], int b[][MAX_SIZE],

int c[][MAX_SIZE], int rowsa, int colsb, int colsa)

{

int i, j, k;

for (i=0; i<rowsa; i++)

for (j=0; j<colsb; j++) {

c[i][j] = 0;

for (k=0; k<colsa; k++)

c[i][j] += a[i][k] * b[k][j];

}

}

�� 1.21 ������
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7. ��
 1.22���	� 4����

void transpose(int a[][MAX_SIZE])

{

int i, j, temp;

for (i=0; i<MAX_SIZE; i++)

for (j=i+1; j<MAX_SIZE; j++)

SWAP(a[i][j], a[j][i], temp);

}

�� 1.22 ������

§1.5.3 �����O, Ω, Θ�

���
����������
�������
��	�	�������� �

��
����	�
 ���%�

�����������
����"�����������
��������'


�����
�
����������������
�����"��������



�����x = y	 x = y + z + (x/y) + (x ∗ y ∗ z− x/z)�����
������
�

��������������"
������������
����
�!���


����������� 3n + 3� 100n + 10���(���������
�� 3n + 3�

�
��
�
�� 100n + 10��
������	�
������������
�

�����
��� 100n + 10��
����
������� 80n�
 85n�
 75n���

�
���
	������

�������������������� c1n ≤ TP(n) ≤ c2n2 
 TQ(m, n) = c1n +
c2m��� c1, c2���
�����
�������
����	�� c1n2 + c2n�����

	�� c3n�
���	�� c3n��
��
�	�� c1n2 + c2n��
�� n	�����

���������� n���������
���������������#

� c1,

c2, c3��"���� c1 = 1, c2 = 2, c3 = 100�
��� n ≤ 98��c1n2 + c2n ≤ c3n�� n > 98

��c1n2 + c2n > c3n��� c1 = 1, c2 = 2, c3 = 1000�
��� n ≤ 998��c1n2 + c2n ≤ c3n�

�� c1, c2, c3���"������ n"�
���	�� c3n��
����	��

c1n2 + c2n��
�������� n"�����(break even point)���4"��0�


���	�� c3n��
�������(

���	�)�4"����"������

���!��
�����(�����*�&�������4"��
���	���

�
��	� c1n2 + c2n	 c3n��� c1, c2, c3���
�����������
����

��
���� c1, c2, c3���"�

�!����	�������������������������������

��������
��	�	�	�	�	����������f 	 g������


���

�� (� O��) f (n) = O(g(n))��
� f (n)� g(n)�� O���������
� c	

n0��� n ≥ n0��f (n) ≤ cg(n)�
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� 1.15 3n + 2 = O(n)����� n ≥ 2� 3n + 2 ≤ 4n�3n + 3 = O(n)����� n ≥ 3�

3n + 2 ≤ 4n�100n + 6 = O(n)����� n ≥ 10� 100n + 6 ≤ 101n�10n2 + 4n + 2 = O(n2)
����� n ≥ 5� 10n2 + 4n + 2 ≤ 11n2�1000n2 + 100n− 6 = O(n2)����� n ≥ 100

� 1000n2 + 100n− 6 ≤ 1001n2�6 · 2n + n2 = O(2n) ����� n ≥ 4 � 6 · 2n + n2 ≤
7 · 2n�3n + 3 = O(n2) ����� n ≥ 2� 3n + 3 ≤ 3n2�10n2 + 4n + 2 = O(n4) ���
�� n ≥ 2� 10n2 + 4n + 2 ≤ 10n4�3n + 2 �= O(1)�����
� c	 n ≥ n0 ����

�3n + 2�

� c�10n2 + 4n + 2 �= O(n)�

���O(1)�#���	�	��O(n)������O(n2)�� 2���O(n3)�� 3

���O(2n)��������������	�	��O(log n)�
��	��� n�
�

���	�� O(n)��������
��O(n log n)� O(n2)����� O(n)����
	���	�O(1), O(log n), O(n), O(n log n), O(n2), O(n3),	 O(2n)����������

������� f (n) = O(g(n)) ��� g(n) �� n ≥ n0 ��f (n) ������ 
"��������� �����!������������ n = O(n2), n = O(n2.5),

n = O(n3), n = O(2n)�		�������� f (n) = O(g(n))���������g(n) �

��
 n���
�
 f (n) = O(g(n))������
�������� 3n + 3 = O(n2)
���	����/��	������� 3n + 3 = O(n)�

���O�������������f (n) = O(g(n))�O(g(n)) = f (n)���
��
���O(g(n)) = f (n)$��������=	
���	
����	�
�������
����
����=�����
��������
�	
��

�� f (n)��
 n���	�
������� 1.2�

�� f (n)�������
���	 f (n) = O(g(n))�� g(n)�

�� 1.2 �� f (n) = amnm + · · · a1n + a0�
� f (n) = O(nm)�

�� � n ≥ 1��

f (n) ≤
m

∑
i=0
|ai|ni

≤ nm
m

∑
i=0
|ai|ni−m

≤ nm
m

∑
i=0
|ai|.

���f (n) = O(nm)�

�� (� Ω��) f (n) = Ω(g(n))��
� f (n)� g(n)�� Ω���������
� c	

n0��� n ≥ n0��f (n) ≥ cg(n)�

� 1.16 3n + 2 = Ω(n)����� n ≥ 1� 3n + 2 ≥ 3n�������		� n ≥ 0��	�

��� Ω����
 n0 > 0��3n + 3 = Ω(n)����� n ≥ 1� 3n + 2 ≥ 3n�100n + 6 =
Ω(n) ����� n ≥ 1� 100n + 6 ≥ 100n�10n2 + 4n + 2 = Ω(n2) ����� n ≥ 1�

10n2 + 4n + 2 ≥ n2�6 · 2n + n2 = Ω(2n)����� n ≥ 1� 6 · 2n + n2 ≥ 2n��
����
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� 3n + 3 = Ω(1)�10n2 + 4n + 2 = Ω(n)�10n2 + 4n + 2 = Ω(1)�6 · 2n + n2 = Ω(n100)�6 ·
2n + n2 = Ω(n50.2)�6 · 2n + n2 = Ω(n2)�6 · 2n + n2 = Ω(n)�6 · 2n + n2 = Ω(1)�

�� 1.3 �� f (n) = amnm + · · · a1n + a0�� f (n) = Ω(nm)�

�� �
	��

�� (� Θ��) f (n) = Θ(g(n))��
� f (n)� g(n)�� Θ���������
� c1,

c2,	 n0��� n ≥ n0��c1g(n) ≤ f (n) ≤ c2g(n)�

� 1.17 3n + 2 = Θ(n)����� n ≥ 2� 3n + 2 ≥ 3n���� n ≥ 2� 3n + 2 ≤ 4n��

� c1 = 3, c2 = 4, n0 = 2�3n + 2 = Θ(n)�10n2 + 4n + 2 = Θ(n2)�6 · 2n + n2 = Θ(2n)��
��10 log n + 4 = Θ(log n)�3n + 2 = Θ(1)�3n + 3 = Θ(n2)�10n2 + 4n + 2 = Θ(n)�10n2 +
4n + 2 = Θ(1)�6 · 2n + n2 = Θ(n2)�6 · 2n + n2 = Θ(n100)�6 · 2n + n2 = Θ(1)�

� Θ���� O���� Ω������f (n) = Θ(g(n))���� g(n)�� f (n)�
� �� f (n)�� �

������	����������g(n)�
��	�� 1�������
���	�

�����)��� 3n + 3 = O(3n)�10 = O(100)�10n2 + 4n + 2 = Ω(4n2)�6 · 2n + n2 =
Ω(6 · 2n)�6 · 2n + n2 = Ω(4 · 2n)����������	�

�� 1.4 �� f (n) = amnm + · · · a1n + a0�� f (n) = Θ(nm)�

�� �
	��

�����	����	��	�������
 1.12���� sum��� Tsum(n) =
2n + 3����Tsum(n) = Θ(n)��
 Trsum(n) = 2n + 2���� Trsum(n) = Θ(n)����
Tadd(rows, cols) = 2rows · cols + 2rows + 1 = Θ(rows · cols)�
������!�� O, Ω, Θ �������
�����������
�����

������
�������,��
�����������!�	��������

��%��	����
����������
���
�����!�	������

��
����
������
������!�	������
�����

� 1.18 (�	����	
) � 1.5���������&���&���� 1.4��
�

�������
����
�������
����������!�%�����

���������"� 0������&� 1.5�%���
��&� 1.4�%�����

���� 5�����
���� rows · (cols + 1)������!�	� Θ(rows · cols)�
����
����!
�������!�	���������������!�	

��������������
�
���
�(��������)�!
������

�!�	����"���������!�	�����
�������������

Θ(rows · cols)�

� 1.19 (����) �������
 1.7�%����� binsearch��	�	����

��� n
�����while���� ��� Θ(1)������while��� ����
�� 	log2(n + 1)
��
��!��������������� ������ ����
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�� �!�	�

void add(int a[][MAX_SIZE] ... ) 0

{ 0

int i, j; 0

for (i=0; i<rows; i++) Θ(rows)
for (j=0; j<cols; j++) Θ(rows · cols)
c[i][j] = a[i][j] + b[i][j]; Θ(rows · cols)

} 0

�� Θ(rows · cols)

� 1.5 ������
����

�����������������������right-left+1�������$���

�������� ���� Θ(log n)������� ��� Θ(1)������binsearch
�������	�	�� Θ(log n)�����!����	�� Θ(1)����while �
���������� searchnum�

� 1.20 (��) ���
 1.9���� perm�� i = n���� Θ(n)�� i < n���� else

������ for��
�� n− i + 1���� ��� Θ(n + Tperm(i + 1, n))�����
i < n��Tperm(i, n) = Θ((n− i + 1)(n + Tperm(i + 1, n)))���� i + 1 ≤ n��Tperm(i + 1, n)
��� n���� i < n�� Tperm(i, n) = Θ((n− i + 1)Tperm(i + 1, n))�����$��
�
�� Tperm(i, n) = Θ(n · n!)�

� 1.21 (��) �����	��������!�
��������� n× n ����

�������"���� 1� n2�
�������������0��	��	�� 1.6

� n = 5�����	�	�� 65�

15 8 1 24 17

16 14 7 5 23

22 20 13 6 4

3 21 19 12 10

9 2 25 18 11

� 1.6 5���

Coxeter���������(n���)������

��	����	�	������ 1���
�������
�������

����� 1����������
	�������	����������

��������(��)�����������������������
�

����	����	�	��������	����
����������
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����	�
�

� 1.6���� Coxeter�������
 1.23� Coxeter������
 n�%��

�����
�� size��if ���	������ Θ(1)������ for ��	��

Θ(n2)���� for ����� Θ(1)�! � Θ(n2)�����	�� Θ(n2)�)���
� for ����� Θ(n2)����!����
 1.23��!�	�� Θ(n2)�

����	�
��	��������
!���	�� ���
�������

�� O������	�������������������O���������

�
��������	� ��� ��� ������ Θ����� O���

��

1. �������

(a) 5n2 − 6n = Θ(n2)

(b) n! = O(nn)

(c) 2n2 + n log n = Θ(n2)

(d) ∑n
i=0 i2 = Θ(n3)

(e) ∑n
i=0 i3 = Θ(n4)

(f) n2n
+ 6 · 2n = Θ(n2n

)

(g) n3 + 106n2 = Θ(n3)

(h) 6n3/(log n + 1) = O(n3)

(i) n1.001 + n log n = Θ(n1.001)

(j) ��� k ≥ 1�nk + n + nk log n = Θ(nk log n)

(k) 10n3 + 15n4 + 100n22n = O(n22n)

2. ����������

(a) 10n2 + 9 = O(n)

(b) n2 log n = Θ(n2)

(c) n2/ log n = Θ(n2)

(d) n32n + 6n23n = O(n22n)

(e) 3n = O(2n)

3. ���� 1.3�

4. ���� 1.4�

5. ���
 1.19������	��
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#include <stdio.h>

#define MAX_SIZE 15 /* maximum size of square */

void main(void)

{ /* construct a magic square, iteratively */

int square[MAX_SIZE][MAX_SIZE];

int i, j, row, col; /* indexes */

int count; /* counter */

int size; /* square size */

printf("Enter the size of the square: ");

scanf("%d", &size);

/* check for input errors */

if (size<1 || size>MAX_SIZE+1) {

fprintf(stderr, "Error! Size is out of range\n");

exit(EXIT_FAILURE);

}

if (!(size%2)) {

fprintf(stderr, "Error! Size is even\n");

exit(EXIT_FAILURE);

}

for (i=0; i<size; i++)

for (j=0; j<size; j++) square[i][j] = 0;

square[0][(size-1)/2] = 1; /* middle of first row */

i = 0; j = (size-1)/2; /* i and j are current position */

for (count=2; count<=size*size; count++) {

row = (i-1<0) ? (size-1) : (i-1); /* up */

col = (j-1<0) ? (size-1) : (j-1); /* left */

if (square[row][col]) i = (++i) % size; /* down */

else { i = row; j = (j-1<0) ? (size-1) : --j; } /*square is unoccupied */

square[i][j] = count;

}

/* output the magic square */

printf(" Magic Square of size %d : \n\n", size);

for (i=0; i<size; i++) {

for (j=0; j<size; j++) printf("%5d", square[i][j]);

printf("\n");

}

printf("\n\n");

}

�� 1.23 ����
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6. ���
 1.22������	��

7. ��
� n���� n2	 20n + 4���,�������� �������
��

8. ���
 1.23��������$��
�

§1.5.4 		�	


���&��
��	�	����������
�����1%
�
����	

������� ���%��	������������
	������
 P, Q�

�����"� P��	�� Θ(n)�Q��	�� Θ(n2)��������	����n��


 P��
 Q������������������������
� c�� n ≥ n1 ��

�
 P������	� � cn�������
� d�� n ≥ n2 ���
 Q�����

�	� � dn2��
� n ≥ c/d��cn ≤ dn2����!
 n ≥ max{n1, n2, c/d}��
 P�

���
 Q������

�
��+�!�����	����
������
���������
�� n

��"��	�������
 P������	� 106n$����
 Q����	� n2

$�����
���
�
��� n ≤ 106������
 Q�

�
���
��� ����$����
����� 1.7	� 1.8���
����

2n�
 n����
�����������
��� 2n�
��
�� n = 40���


���$� 1.1× 1012�"����������� 10���
��������
��


18.3��� n = 50��
�������
�� 13 �n = 60�
$ 310.56��n = 100�


$ 4× 1013����������	���
���
 n(≤ 40)������

log2 n n n log2 n n2 n3 2n

0 1 0 1 1 2

1 2 2 4 8 4

2 4 8 16 64 16

3 8 24 64 512 256

4 16 64 256 4096 65536

5 32 160 1024 32768 4294967296

� 1.7 ��"

�
��������	�	���
������"�����!
������

��
���
���� n10����
 10 ��n = 100 �
 3,171 ��n = 1000 �


3.17× 1013 �����
��	�	�� n3 �
��n = 1000�
 1��n = 10000�


110.67��n = 100000�
 11.57 �

� 1.9�����10���
�/�����������	�� f (n)��
���	�
�
�
��������������������$�� 10���
�������8

 ��� n(> 100)����!�
��	�	��(� n, n log n, n2, n3)��
������

����&���������������"�������� 1012��
�����
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O
n

f (n)

.
1

.
2

.
3

.
4

.
5

.
6

.
7

.
8

.
9

.
10

.10

.20

.30

.40

.50

.60

log n

n

n log n

n22n

� 1.8 ��"
�

f (n)

n n n log2 n n2 n3 n4 n10 2n

10 .01 μs .03 μs .1 μs 1 μs 10 μs 10 s 1 μs

20 .02 μs .09 μs .4 μs 8 μs 160 μs 2.84 h 1 ms

30 .03 μs .15 μs .9 μs 27 μs 810 μs 6.83 d 1 s

40 .04 μs .21 μs 1.6 μs 64 μs 2.56 ms 121 d 18 m

50 .05 μs .28 μs 2.5 μs 125 μs 6.25 ms 3.1 y 13 d

100 .10 μs .66 μs 10 μs 1 ms 100 ms 3171 y 4× 10 13 y

103 1 μs 9.96 μs 1 ms 1 s 16.67 m 3.17× 1013 y 32× 10283 y

104 10 μs 130 μs 100 ms 16.67 m 115.7 d 3.17× 10 23 y

105 100 μs 1.66 ms 10 s 11.57 d 3171 y 3.17× 10 33 y

106 1 ms 19.92 ms 16.67 m 31.71 y 3.17× 10 7 y 3.17× 1043 y

μs ="�( = 10−6�)�ms =$�(= 10−3�)�

s =��m =�)�h =���d = �y =��

� 1.9 ��10���
�/���������
���	�
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�� 1.9����!�
�����
��� n = 100��	�� n10 ��

�� 3.17��

�	�� 2n��

�� 4× 1010��

§1.6 ��
�

§1.6.1 ��

������������	��	�	�����
��������������

���������������
���	������������������	�

����������	����

���	��� C����������
����� time.h �������� 

��C���
����	�����	������ 1.10�����	����
�
�

��� ���

����) start=clock() start=time(NULL)

����) stop=clock() stop=time(NULL)

���� clock_t time_t

���� duration= duration=

((double)(stop-start))/ (double)difftime(stop, start)

CLOCK_PER_SEC

� 1.10 C�������

����� clock �����
���	�/��) 
����) 
�����

�����������
����	������ clock����������"���

�����"����������������"�������������
��

double������	�%�) 
���	�)��
������) 
��(����

� ANSI C�������) 
���	
� CLOCKS_PER_SEC����������


����������������) 
����������

���� time�����"�	�����	�����	�� time_t���� clock

�
��� time�
�������
�����	��
���������
���

���"������ NULL������
�������	����� time_t����

���������������� difftime���
��������	���
��

����� time_t������)���
����� double�

� 1.22 (�!�
�������) ���
����
���!�
����������

���������	%
�����
������6
��������������


����� 0, 10, 20, 90, 100, 200, . . ., 1000��
 1.24��	���
�
�sort ���

��
 1.4����
 1.24������ selectionSort.h�������
��
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#include <stdio.h>

#include <time.h>

#include "SelectionSort.h"

#define MAX_SIZE 1001

void main(void)

{

int i, n, step=10;

int a[MAX_SIZE];

double duration;

clock_t start;

/* times for n=0, 10, ..., 100, 200, ..., 1000 */

printf(" n time\n");

for (n=0; n<=1000; n+=step)

{ /* get time for size n */

/* initialize with worst-case data */

for (i=0; i<n; i++)

a[i] = n - i;

start = clock();

sort(a, n);

duration = ((double)(clock()-start))/CLOCK_PER_SEC;

printf("%6d %f\n", n, duration);

if (n==100) step = 100;

}

}
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#include <stdio.h>

#include <time.h>

#include "SelectionSort.h"

#define MAX_SIZE 1001

void main(void)

{

int i, n, step=10;

int a[MAX_SIZE];

double duration;

clock_t start;

long repetitions;

/* times for n=0, 10, ..., 100, 200, ..., 1000 */

printf(" n time\n");

for (n=0; n<=1000; n+=step)

{

/* get time for size n */

repetitions = 0;

start = clock();

do {

repetitions++;

/* initialize with worst-case data */

for (i=0; i<n; i++)

a[i] = n - i;

sort(a, n);

} while (clock()-start<1000);

/* repeat until enough time has elapsed */

duration = ((double)(clock()-start))/CLOCK_PER_SEC;

duration /= repetitions;

printf("%6d %9d %f\n", n, repetitions, duration);

if (n==100) step = 100;

}

}

�� 1.25 �
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n ���� �	

0 8690714 0.000000

10 2370915 0.000000

20 604948 0.000002

30 329505 0.000003

40 205605 0.000005

50 145353 0.000007

60 110206 0.000009

70 85037 0.000012

80 65751 0.000015

90 54012 0.000019

100 44058 0.000023

200 12582 0.000079

300 5780 0.000173

400 3344 0.000299

500 2096 0.000477

600 1516 0.000660

700 1106 0.000904

800 852 0.001174

900 681 0.001468

1000 550 0.001818
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§1.6.2 ���
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